Chapter 10 Review Questions


Questions:


1.
The phase of the business cycle in which real GDP declines is called: 

A)
the peak.    


B)
an expansion.    


C)
a recession.    


D)
the trough. 

2.
Recurring upswings and downswings in an economy's real GDP over time are called:

A)
recessions.   


B)
business cycles.   


C)
output yo-yos.   


D)
total product oscillations.

3.
Economic growth is best defined as an increase in:

A)
either real GDP or real GDP  per capita.



B)
nominal GDP.


C)
total consumption expenditures.


D)
wealth in the economy.
Answer the next question(s) on the basis of the following information about the hypothetical economy of Scoob.  All figures are in millions.
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4.
Refer to the above information. The labor force in Scoob is:

A)
95 million.   


B)
102 million.   


C)
105 million.   


D)
145 million.

5.
Refer to the above information. The unemployment rate in Scoob is:

A)
2.5 percent.   


B)
3.2 percent.   


C)
5.0 percent.   


D)
6.9 percent.

6.
Refer to the above information. If the natural rate of unemployment in Scoob is 5 percent, then:

A)
structural unemployment is about 3 percent.


B)
frictional unemployment is about 2 percent.


C)
cyclical unemployment is about 2 percent.


D)
hidden unemployment is about 5 percent.

7.
Kara voluntarily quit her job as an insurance agent to return to school full-time to earn an MBA degree. With degree in hand she is now searching for a position in management. Kara presently is: 


A)
cyclically unemployed. 
 

B)
structurally unemployed.


C)
frictionally unemployed.

 
D)
not a member of the labor force. 

8.
Inflation means that: 

A)
all prices are rising, but at different rates. 

B)
all prices are rising and at the same rate. 

C)
prices in the aggregate are rising, although some particular prices may be falling. 

D)
real incomes are rising. 

9.
If the consumer price index falls from 120 to 116 in a particular year, the economy has experienced: 

A)
inflation of 4 percent. 
 

B)
inflation of 3.33 percent.


C)
deflation of 3.33 percent.

 
D)
deflation of 4 percent. 

10.
Inflation is undesirable because it: 

A)
arbitrarily redistributes real income and wealth. 
 

B)
invariably leads to hyperinflation.


C)
usually is accompanied by declining real GDP.

 
D)
reduces everyone's standard of living. 

11.
Inflation affects: 

A)
both the level and the distribution of income. 
 

B)
neither the level nor the distribution of income.


C)
the distribution, but not the level, of income.

 
D)
the level, but not the distribution, of income. 
Answers:
1. C

2. B

3. A

4. B

5. D

6. C

7. C

8. C

9. C

10. C

11. A
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